



**WORLD TRADE CENTER®**  
**DENVER**

# CERTIFICATE OF ORIGIN ORIGINAL



TO VALIDATE, GO TO  
**VERIFY.FTGS.US**

Certificate Number : **DWTC-COO-71448-699715c4ae91f**

Date : **February 19, 2026**

<b>Seller (Exporter)</b> STOLLE MACHINERY Company, LLC 6949 South Potomac Street Centennial CO 80112 USA	<b>Transport Type</b> Air	<b>Port of Loading</b> Denver, CO
	<b>Destination Country</b> Saudi Arabia	<b>Destination Port</b> Jeddah
	<b>Export Date</b> *****	<b>Exporting Carrier</b> *****
<b>Consignee</b> SOUTHERN CAN MAKING COMPANY LTD PO BOX 55334 MAKKAH EXP H/WAY OPP THE CHECKPOINT, JEDDAH, 21534 Saudi Arabia	<b>Import Permit Number</b> *****	<b>Bill of Lading / AWB</b> *****
	<b>Owner or Agent</b> *****	<b>Forwarding Agent</b> *****
	<b>Remarks</b> Consignor reference: 495255;516776	



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
773100 - TURK CORDSET H.S.Code: 8101.96	1.04	United States
730365 - TUBE FITTING GE H.S.Code: 7307.99	0.45	United States
746470 - LOCK SCREW H.S.Code: 7318.15	0.54	Germany
703996 - LOCK WASHER 17 MM H.S.Code: 7318.22	0.05	United States
210780 - KEY SPINDLE H.S.Code: 8205.40	0.50	United States
700369 - ASSORTED SIZE (SPRING) H.S.Code: 7320.90	0.30	United States
730469 - ELBOW H.S.Code: 7307.22	0.87	United States

Name of Authorized Trade Association

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:  
 - The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.  
 -The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD") is accurate, true and complete.  
 -The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.  
 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.  
 -In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.  
 The Applicant is authorized to give the undertakings set out herein.



*Sandi Moilanen*

Authorized Signature **Sandi Moilanen**



**WORLD TRADE CENTER®**  
**DENVER**

# CERTIFICATE OF ORIGIN

**ORIGINAL**



TO VALIDATE, GO TO  
**VERIFY.FTGS.US**

Certificate Number : **DWTC-COO-71448-699715c4ae91f**

Date : **February 19, 2026**

<b>Seller (Exporter)</b> STOLLE MACHINERY Company, LLC 6949 South Potomac Street Centennial CO 80112 USA	<b>Transport Type</b> Air	<b>Port of Loading</b> Denver, CO
	<b>Destination Country</b> Saudi Arabia	<b>Destination Port</b> Jeddah
	<b>Export Date</b> *****	<b>Exporting Carrier</b> *****
<b>Consignee</b> SOUTHERN CAN MAKING COMPANY LTD PO BOX 55334 MAKKAH EXP H/WAY OPP THE CHECKPOINT, JEDDAH, 21534 Saudi Arabia	<b>Import Permit Number</b> *****	<b>Bill of Lading / AWB</b> *****
	<b>Owner or Agent</b> *****	<b>Forwarding Agent</b> *****
	<b>Remarks</b> Consignor reference: 495255;516776	



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
730129 - FITTING H.S.Code: 7307.11	1.13	United States
700876 - FITTING BRASS H.S.Code: 7307.11	0.18	Italy
730469 - ELBOW H.S.Code: 7307.22	0.56	United States
730472 - FITTING H.S.Code: 7307.11	0.11	Mexico
305355 - PNEUMATIC CYLINDER H.S.Code: 8412.39	2.18	United States
720118 - PNEUMATIC CYLINDER H.S.Code: 8412.39	5.44	United States
217073 - BLADE H.S.Code: 8443.91	2.00	United States

Name of Authorized Trade Association

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:  
 - The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.  
 -The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD") is accurate, true and complete.  
 -The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.  
 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.  
 -In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.  
 The Applicant is authorized to give the undertakings set out herein.



*Sandi Moilanen*

Authorized Signature **Sandi Moilanen**



**WORLD TRADE CENTER®**  
**DENVER**

# CERTIFICATE OF ORIGIN ORIGINAL



TO VALIDATE, GO TO  
**VERIFY.FTGS.US**

Certificate Number : **DWTC-COO-71448-699715c4ae91f**

Date : **February 19, 2026**

<b>Seller (Exporter)</b> STOLLE MACHINERY Company, LLC 6949 South Potomac Street Centennial CO 80112 USA	<b>Transport Type</b> Air	<b>Port of Loading</b> Denver, CO
	<b>Destination Country</b> Saudi Arabia	<b>Destination Port</b> Jeddah
	<b>Export Date</b> *****	<b>Exporting Carrier</b> *****
<b>Consignee</b> SOUTHERN CAN MAKING COMPANY LTD PO BOX 55334 MAKKAH EXP H/WAY OPP THE CHECKPOINT, JEDDAH, 21534 Saudi Arabia	<b>Import Permit Number</b> *****	<b>Bill of Lading / AWB</b> *****
	<b>Owner or Agent</b> *****	<b>Forwarding Agent</b> *****
	<b>Remarks</b> Consignor reference: 495255;516776	



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
309731 - SHAFT H.S.Code: 8483.10	22.36	United States
300660 - PRINTING BLATE H.S.Code: 8443.91	0.23	United States
222152692 - SPACER PLATE CYLINDER H.S.Code: 8443.91	20.87	United States
700936 - FITTING H.S.Code: 7307.11	1.13	Italy
765450 - FITTING H.S.Code: 7307.11	0.23	United States
700170 - BALL BEARING H.S.Code: 8482.10	1.09	United States
700006632 - BALL H.S.Code: 8482.91	0.36	Japan

Name of Authorized Trade Association

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:  
 - The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.  
 -The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD") is accurate, true and complete.  
 -The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.  
 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.  
 -In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.  
 The Applicant is authorized to give the undertakings set out herein.



*Sandi Moilanen*

Authorized Signature **Sandi Moilanen**



**WORLD TRADE CENTER®**  
**DENVER**

# CERTIFICATE OF ORIGIN

**ORIGINAL**



TO VALIDATE, GO TO  
**VERIFY.FTGS.US**

Certificate Number : **DWTC-COO-71448-699715c4ae91f**

Date : **February 19, 2026**

<b>Seller (Exporter)</b> STOLLE MACHINERY Company, LLC 6949 South Potomac Street Centennial CO 80112 USA	<b>Transport Type</b> Air	<b>Port of Loading</b> Denver, CO
	<b>Destination Country</b> Saudi Arabia	<b>Destination Port</b> Jeddah
	<b>Export Date</b> *****	<b>Exporting Carrier</b> *****
<b>Consignee</b> SOUTHERN CAN MAKING COMPANY LTD PO BOX 55334 MAKKAH EXP H/WAY OPP THE CHECKPOINT, JEDDAH, 21534 Saudi Arabia	<b>Import Permit Number</b> *****	<b>Bill of Lading / AWB</b> *****
	<b>Owner or Agent</b> *****	<b>Forwarding Agent</b> *****
	<b>Remarks</b> Consignor reference: 495255;516776	



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
700006634 - BALL H.S.Code: 8482.91	0.32	Argentina
700565 - COUPLING H.S.Code: 4006.90	38.56	United States
707874 - BELT (ASSORTED) H.S.Code: 4010.19	1.02	United States
700008039 - V BELT H.S.Code: 4010.33	0.64	United States
700007069 - LOCK WASHER 17mm H.S.Code: 7318.22	0.02	United States
700008395 - IDLER BUSHING H.S.Code: 8422.90	4.54	Mexico
702248 - FITTINGS H.S.Code: 7307.11	0.25	Mexico

Name of Authorized Trade Association



Authorized Signature *Sandi Moilanen*

*Sandi Moilanen*

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:  
 - The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.  
 -The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD") is accurate, true and complete.  
 -The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.  
 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.  
 -In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.  
 The Applicant is authorized to give the undertakings set out herein.



**WORLD TRADE CENTER®**  
**DENVER**

# CERTIFICATE OF ORIGIN

**ORIGINAL**



TO VALIDATE, GO TO  
**VERIFY.FTGS.US**

Certificate Number : **DWTC-COO-71448-699715c4ae91f**

Date : **February 19, 2026**

<b>Seller (Exporter)</b> STOLLE MACHINERY Company, LLC 6949 South Potomac Street Centennial CO 80112 USA	<b>Transport Type</b> Air	<b>Port of Loading</b> Denver, CO
	<b>Destination Country</b> Saudi Arabia	<b>Destination Port</b> Jeddah
	<b>Export Date</b> *****	<b>Exporting Carrier</b> *****
<b>Consignee</b> SOUTHERN CAN MAKING COMPANY LTD PO BOX 55334 MAKKAH EXP H/WAY OPP THE CHECKPOINT, JEDDAH, 21534 Saudi Arabia	<b>Import Permit Number</b> *****	<b>Bill of Lading / AWB</b> *****
	<b>Owner or Agent</b> *****	<b>Forwarding Agent</b> *****
	<b>Remarks</b> Consignor reference: 495255;516776	



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
703489 - FITTINGS H.S.Code: 7307.11	2.27	Italy
217095 - DISCHARGE SLEEVE H.S.Code: 8422.90	0.29	United States
720126 - PNEUMATIC CYLINDER H.S.Code: 8412.39	2.62	United States
309424 - TRIP CYLINDER H.S.Code: 8409.91	2.02	United States
217112 - FEATHER KEY H.S.Code: 8422.90	1.31	United States
700170 - BALL BEARING H.S.Code: 8482.10	0.91	United States
709720 - BALL BEARING H.S.Code: 8482.10	1.02	United States

Name of Authorized Trade Association

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:  
 - The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.  
 -The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD") is accurate, true and complete.  
 -The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.  
 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.  
 -In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.  
 The Applicant is authorized to give the undertakings set out herein.



*Sandi Moilanen*

Authorized Signature **Sandi Moilanen**



**WORLD TRADE CENTER®**  
**DENVER**

# CERTIFICATE OF ORIGIN

**ORIGINAL**



TO VALIDATE, GO TO  
**VERIFY.FTGS.US**

Certificate Number : **DWTC-COO-71448-699715c4ae91f**

Date : **February 19, 2026**

<b>Seller (Exporter)</b> STOLLE MACHINERY Company, LLC 6949 South Potomac Street Centennial CO 80112 USA	<b>Transport Type</b> Air	<b>Port of Loading</b> Denver, CO
	<b>Destination Country</b> Saudi Arabia	<b>Destination Port</b> Jeddah
	<b>Export Date</b> *****	<b>Exporting Carrier</b> *****
<b>Consignee</b> SOUTHERN CAN MAKING COMPANY LTD PO BOX 55334 MAKKAH EXP H/WAY OPP THE CHECKPOINT, JEDDAH, 21534 Saudi Arabia	<b>Import Permit Number</b> *****	<b>Bill of Lading / AWB</b> *****
	<b>Owner or Agent</b> *****	<b>Forwarding Agent</b> *****
	<b>Remarks</b> Consignor reference: 495255;516776	
<b>Buyer (Importer)</b>		

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
709640 - BALL BEARING H.S.Code: 8482.10	0.05	United States
70006740 - BALL BEARING H.S.Code: 8482.10	2.72	United States
309886 - SHAFT H.S.Code: 8483.10	0.36	United States
305257 - SHAFT H.S.Code: 8483.10	9.53	United States
758760 - ASSY PLUNGER H.S.Code: 8479.30	0.05	United States
122002206 - STARWELL H.S.Code: 8422.90	2.59	United States
70006740 - BALL BEARING H.S.Code: 8482.10	2.72	Mexico
=====end of products=====	=====	=====

Name of Authorized Trade Association



Authorized Signature *Sandi Moilanen*

*Sandi Moilanen*

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:  
 - The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.  
 -The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD") is accurate, true and complete.  
 -The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.  
 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.  
 -In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.  
 The Applicant is authorized to give the undertakings set out herein.



**Stolle Machinery UK Ltd**  
 Unit 2, Frontier Way  
 Frontier Park  
 Burnley, BB11 5FE  
 Tel: +44 (0) 1282 858930

**Commercial Invoice  
 For Customs Clearance**

Invoice Number: 516776  
 Date: 12/02/2026



**Bill To** 09443EMSL  
 SOUTHERN CAN MAKING COMPANY LTD.  
 PO BOX 55334  
 MAKKAH EXP H/WAY  
 - OPP THE CHECK POINT  
 SHUMAYSHI  
 JEDDAH, 21534  
 SA - SAUDI ARABIA

**Consignee** 09443EMSL  
 SOUTHERN CAN MAKING COMPANY LTD.  
 PO BOX 55334  
 MAKKAH EXP H/WAY  
 - OPP THE CHECK POINT  
 SHUMAYSHI  
 JEDDAH, 21534  
 SA - SAUDI ARABIA

**SHIPPING METHOD** DHL INTERNATIONAL (UK) LTD  
**NUMBER PCS / WEIGHT** 1.00 / 37.00 kg  
**B/L**

**INCOTERMS** FCA Burnley  
**TERMS** 60 Days Net  
**PRO NO**  
**ITN**

Order No. Line No. Rel No.	PO Number Part Number Part Number Description	HS Classification Country of Origin	Qty. Delivered Unit of Measure Notes	Unit Value USD	Total Value USD	Net Weight Each	Net Weight Total
T19672 16 1	202520912 707874 BELT (ASSORTED)	401019000000 UNITED STATES	5.00 EA	83.320	416.60	0.204	1.02 kg
<b>Total HS Code - DOMESTIC</b>		<b>401019000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>401019000000</b>	<b>5.00</b>		<b>416.60</b>		<b>1.02 kg</b>
<b>Total HS Code - TOTAL</b>		<b>401019000000</b>	<b>5.00</b>		<b>416.60</b>		<b>1.02 kg</b>
T19015 1 1	202520983 700008039 V BELT	401033000000 UNITED STATES	2.00 EA	41.600	83.20	0.318	0.64 kg
<b>Total HS Code - DOMESTIC</b>		<b>401033000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>401033000000</b>	<b>2.00</b>		<b>83.20</b>		<b>0.64 kg</b>
<b>Total HS Code - TOTAL</b>		<b>401033000000</b>	<b>2.00</b>		<b>83.20</b>		<b>0.64 kg</b>
T19013	2025/20975 700007069 LOCK WASHER 17mm	731822000002 UNITED STATES	1.00 EA	4.280	4.28	0.016	0.02 kg
<b>Total HS Code - DOMESTIC</b>		<b>731822000002</b>					
<b>Total HS Code - FOREIGN</b>		<b>731822000002</b>	<b>1.00</b>		<b>4.28</b>		<b>0.02 kg</b>



*Sanli Meilan*



Stolle Machinery UK Ltd  
 Unit 2, Frontier Way  
 Frontier Park  
 Burnley, BB11 5FE  
 Tel: +44 (0) 1282 858930

Commercial Invoice  
 For Customs Clearance

Invoice Number: 516776  
 Date: 12/02/2026

**ORIGINAL**

<b>Total HS Code - TOTAL</b>		<b>731822000002</b>	<b>1.00</b>		<b>4.28</b>		<b>0.02 kg</b>
T19015	202520983	842290000000	2.00	319.200	638.40	1.134	2.27 kg
2	700008395	MEXICO	EA				
1	IDLER BUSHING						
T18192	2025/20847	842290000000	2.00	319.200	638.40	1.134	2.27 kg
5	700008395	MEXICO	EA				
1	IDLER BUSHING						
<b>Total HS Code - DOMESTIC</b>		<b>842290000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>842290000000</b>	<b>4.00</b>		<b>1,276.80</b>		<b>4.54 kg</b>
<b>Total HS Code - TOTAL</b>		<b>842290000000</b>	<b>4.00</b>		<b>1,276.80</b>		<b>4.54 kg</b>
T19672	202520912	730711009999	20.00	13.110	262.20	0.013	0.25 kg
33	702248	MEXICO	EA				
1	FITTINGS						
T19672	202520912	730711009999	100.00	6.310	631.00	0.023	2.27 kg
32	703489	ITALY	EA				
1	FITTINGS						
<b>Total HS Code - DOMESTIC</b>		<b>730711009999</b>					
<b>Total HS Code - FOREIGN</b>		<b>730711009999</b>	<b>120.00</b>		<b>893.20</b>		<b>2.52 kg</b>
<b>Total HS Code - TOTAL</b>		<b>730711009999</b>	<b>120.00</b>		<b>893.20</b>		<b>2.52 kg</b>
T19433	202521044	842290000000	20.00	145.470	2,909.40	0.015	0.29 kg
1	217095	UNITED STATES	EA				
1	DISCHARGE SLEEVE						
<b>Total HS Code - DOMESTIC</b>		<b>842290000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>842290000000</b>	<b>20.00</b>		<b>2,909.40</b>		<b>0.29 kg</b>
<b>Total HS Code - TOTAL</b>		<b>842290000000</b>	<b>20.00</b>		<b>2,909.40</b>		<b>0.29 kg</b>
T19672	202520912	841239000000	14.00	90.620	1,268.68	0.187	2.62 kg
21	720126	UNITED STATES	EA				
1	PNEUMATIC CYLINDER						
	2025/20779	409912000000	6.00	220.190	1,321.14	0.336	2.02 kg
	300424	UNITED STATES	EA				
	TRIP CYLINDER						

Total HS Code - DOMESTIC



*Paul M. Milam*

DWTC-C00-71448-699715c4ae91f/February 19, 2026



Stolle Machinery UK Ltd  
 Unit 2, Frontier Way  
 Frontier Park  
 Burnley, BB11 5FE  
 Tel: +44 (0) 1282 858930

Commercial Invoice  
 For Customs Clearance

Invoice Number: 516776  
 Date: 12/02/2026



<b>Total HS Code - FOREIGN</b>			<b>20.00</b>		<b>2,589.82</b>		<b>4.63 kg</b>
<b>Total HS Code - TOTAL</b>			<b>20.00</b>		<b>2,589.82</b>		<b>4.63 kg</b>
T19433	202521044	842290000000	16.00	141.890	2,270.24	0.082	1.31 kg
4	217112	UNITED STATES	EA				
1	FEATHER KEY						
<b>Total HS Code - DOMESTIC</b>		<b>842290000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>842290000000</b>	<b>16.00</b>		<b>2,270.24</b>		<b>1.31 kg</b>
<b>Total HS Code - TOTAL</b>		<b>842290000000</b>	<b>16.00</b>		<b>2,270.24</b>		<b>1.31 kg</b>
T19672	202520912	848210000000	10.00	9.530	95.30	0.091	0.91 kg
9	700170	UNITED STATES	EA				
1	BALL BEARING						
T19672	202520912	848210000000	9.00	26.230	236.07	0.113	1.02 kg
3	709720	UNITED STATES	EA				
1	BALL BEARING						
T19672	202520912	848210000000	3.00	26.230	78.69	0.017	0.05 kg
2	709640	UNITED STATES	EA				
1	BALL BEARING						
T19015	202520983	848210000000	12.00	29.900	358.80	0.227	2.72 kg
3	700006740	MEXICO	EA				
1	BALL BEARING						
<b>Total HS Code - DOMESTIC</b>		<b>848210000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>848210000000</b>	<b>34.00</b>		<b>768.86</b>		<b>4.70 kg</b>
<b>Total HS Code - TOTAL</b>		<b>848210000000</b>	<b>34.00</b>		<b>768.86</b>		<b>4.70 kg</b>
T19672	202520912	848310000001	1.00	375.600	375.60	0.363	0.36 kg
26	309886	UNITED STATES	EA				
1	SHAFT						
T19672	202520912	848310000001	7.00	298.080	2,086.56	1.361	9.53 kg
20	305257	UNITED STATES	EA				
	SHAFT						
<b>Total HS Code - DOMESTIC</b>		<b>848310000001</b>					
<b>Total HS Code - FOREIGN</b>		<b>848310000001</b>	<b>8.00</b>		<b>2,462.16</b>		<b>9.89 kg</b>
<b>Total HS Code - TOTAL</b>		<b>848310000001</b>	<b>8.00</b>		<b>2,462.16</b>		<b>9.89 kg</b>



*Sanjiv Malhotra*



Stolle Machinery UK Ltd  
 Unit 2, Frontier Way  
 Frontier Park  
 Burnley, BB11 5FE  
 Tel: +44 (0) 1282 858930

Commercial Invoice  
 For Customs Clearance

Invoice Number: 516776  
 Date: 12/02/2026

**ORIGINAL**

T19658	202521087	847930000000	10.00	7.150	71.50	0.005	0.05 kg
4	758760	UNITED STATES	EA				
1	ASSY PLUNGER						

<b>Total HS Code - DOMESTIC</b>		<b>847930000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>847930000000</b>	<b>10.00</b>		<b>71.50</b>		<b>0.05 kg</b>
<b>Total HS Code - TOTAL</b>		<b>847930000000</b>	<b>10.00</b>		<b>71.50</b>		<b>0.05 kg</b>

T19015	202520983	842290000000	2.00	541.330	1,082.66	1.293	2.59 kg
13	122002206	UNITED STATES	EA				
1	STAR WHELL						

<b>Total HS Code - DOMESTIC</b>		<b>842290000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>842290000000</b>	<b>2.00</b>		<b>1,082.66</b>		<b>2.59 kg</b>
<b>Total HS Code - TOTAL</b>		<b>842290000000</b>	<b>2.00</b>		<b>1,082.66</b>		<b>2.59 kg</b>

**Grand Total:** **14,828.72** **32.18 kg**

Package Type	Length	Width	Height	Dims UoM	Net Weight	Gross Weight	Weight UoM
PALLET	62.00	62.00	44.00	cm	32.18	37.00	kg
<b>Total</b>					<b>32.18</b>	<b>37.00</b>	<b>kg</b>



*Jan Li Meilum*



**Stolle Machinery UK Ltd**  
 Unit 2, Frontier Way  
 Frontier Park  
 Burnley, BB11 5FE  
 Tel: +44 (0) 1282 858930

**Commercial Invoice  
 For Customs Clearance**

Invoice Number: 516776  
 Date: 12/02/2026



VAT Reg No: GB 942 4909 08

UK EORI Number: GB 942 4909 08000

The exporter of the products covered by this document (Exporter Reference No GB 942 4909 08 000) declares that, except where otherwise clearly indicated, these products are of UK preferential origin.

Place and Date: **Burnley, UK. 12/2/2026**

Name of Exporter: **Stolle Machinery UK Ltd.**

The exporter of the products covered by this document declares that there are no products within this consignment that contain Russia-originating sanctioned iron or steel material, and evidence can be produced upon request.

Signed: U.L.

Name: Kevin Parsons

Date: 12.2.26

I declare all the information to be true to the best of my knowledge.



**Stolle Machinery UK**  
 Unit 2, Frontier Park, Burnley, Lancashire  
 United Kingdom, BB11 5QJ  
 Phone: +44 (0) 1282 858930  
 www.stollemachinery.com



*Jan Li Meilum*



**Stolle Machinery UK Ltd**  
 Unit 2, Frontier Way  
 Frontier Park  
 Burnley, BB11 5FE  
 Tel: +44 (0) 1282 858930

**Commercial Invoice**  
**For Customs Clearance**

Invoice Number: 495255  
 Date: 24/09/2025

**Bill To** 09443  
 SOUTHERN CAN MAKING COMPANY LTD.  
 PO BOX 55334  
 MAKKAH EXP H/WAY  
 - OPP THE CHECK POINT  
 SHUMAYSHI  
 JEDDAH, 21534  
 SA - SAUDI ARABIA

**Consignee** 09443  
 SOUTHERN CAN MAKING COMPANY LTD.  
 PO BOX 55334  
 MAKKAH EXP H/WAY  
 - OPP THE CHECK POINT  
 SHUMAYSHI  
 JEDDAH, 21534  
 SA - SAUDI ARABIA



**SHIPPING METHOD** BEST  
**NUMBER PCS / WEIGHT** 1.00 / 143.00 kg  
**B/L**

**INCOTERMS** FCA Burnley  
**TERMS** 60 Days Net  
**PRO NO**  
**ITN**

Order No. Line No. Rel No.	PO Number Part Number Part Number Description	HS Classification Country of Origin	Qty. Delivered Unit of Measure Notes	Unit Value USD	Total Value USD	Net Weight Each	Net Weight Total
T17488 3 1	2025/20680 773100 TURK CORDSET	810196000000 UNITED STATES	100.00 EA	1.140	114.00	0.010	1.04 kg
<b>Total HS Code - DOMESTIC</b>		<b>810196000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>810196000000</b>	<b>100.00</b>		<b>114.00</b>		<b>1.04 kg</b>
<b>Total HS Code - TOTAL</b>		<b>810196000000</b>	<b>100.00</b>		<b>114.00</b>		<b>1.04 kg</b>
T15659 11 1	2025/20371 730365 TUBE FITTING GE	730799000000 UNITED STATES	10.00 EA	5.680	56.80	0.045	0.45 kg
<b>Total HS Code - DOMESTIC</b>		<b>730799000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>730799000000</b>	<b>10.00</b>		<b>56.80</b>		<b>0.45 kg</b>
<b>Total HS Code - TOTAL</b>		<b>730799000000</b>	<b>10.00</b>		<b>56.80</b>		<b>0.45 kg</b>
T15659 8	2025/20371 746470 LOCK SCREW	731815000000 GERMANY	6.00 EA	7.970	47.82	0.091	0.54 kg
<b>Total HS Code - DOMESTIC</b>		<b>731815000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>731815000000</b>	<b>6.00</b>		<b>47.82</b>		<b>0.54 kg</b>
<b>Total HS Code - TOTAL</b>		<b>731815000000</b>	<b>6.00</b>		<b>47.82</b>		<b>0.54 kg</b>



*Stolle Machinery*



**Stolle Machinery UK Ltd**  
 Unit 2, Frontier Way  
 Frontier Park  
 Burnley, BB11 5FE  
 Tel: +44 (0) 1282 858930

**Commercial Invoice**  
**For Customs Clearance**

Invoice Number: 495255  
 Date: 24/09/2025



T15659 6 1	2025/20371 703996 LOCK WASHER 17 MM	731822000002 UNITED STATES	30.00 EA	0.570	17.10	0.002	0.05 kg
------------------	---	-------------------------------	-------------	-------	-------	-------	---------

<b>Total HS Code - DOMESTIC</b>	<b>731822000002</b>						
<b>Total HS Code - FOREIGN</b>	<b>731822000002</b>	<b>30.00</b>			<b>17.10</b>		<b>0.05 kg</b>
<b>Total HS Code - TOTAL</b>	<b>731822000002</b>	<b>30.00</b>			<b>17.10</b>		<b>0.05 kg</b>

T15659 1 1	2025/20371 210780 KEY SPINDLE	820540000000 UNITED STATES	2.00 EA	73.810	147.62	0.249	0.50 kg
------------------	-------------------------------------	-------------------------------	------------	--------	--------	-------	---------

<b>Total HS Code - DOMESTIC</b>	<b>820540000000</b>						
<b>Total HS Code - FOREIGN</b>	<b>820540000000</b>	<b>2.00</b>			<b>147.62</b>		<b>0.50 kg</b>
<b>Total HS Code - TOTAL</b>	<b>820540000000</b>	<b>2.00</b>			<b>147.62</b>		<b>0.50 kg</b>

T17488 1 2	2025/20680 700369 ASSORTED SIZE (SPRING)	732090000000 UNITED STATES	40.00 EA	15.900	636.00	0.005	0.20 kg
------------------	--	-------------------------------	-------------	--------	--------	-------	---------

T17488 1 1	2025/20680 700369 ASSORTED SIZE (SPRING)	732090000000 UNITED STATES	20.00 EA	15.900	318.00	0.005	0.10 kg
------------------	--	-------------------------------	-------------	--------	--------	-------	---------

<b>Total HS Code - DOMESTIC</b>	<b>732090000000</b>						
<b>Total HS Code - FOREIGN</b>	<b>732090000000</b>	<b>60.00</b>			<b>954.00</b>		<b>0.30 kg</b>
<b>Total HS Code - TOTAL</b>	<b>732090000000</b>	<b>60.00</b>			<b>954.00</b>		<b>0.30 kg</b>

T17493 1 1	2025/20681 730469 ELBOW	730722000000 UNITED STATES	47.00 EA	11.000	517.00	0.019	0.87 kg
------------------	-------------------------------	-------------------------------	-------------	--------	--------	-------	---------

T17488 2 1	2025/20680 730129 FITTING	730711009999 UNITED STATES	5.00 EA	21.580	107.90	0.227	1.13 kg
------------------	---------------------------------	-------------------------------	------------	--------	--------	-------	---------

T15659 13 12 1	2025/20371 700876 FITTING BRASS	730711009999 ITALY	20.00 EA	5.330	106.60	0.009	0.18 kg
-------------------------	---------------------------------------	-----------------------	-------------	-------	--------	-------	---------

	2025/20371 730469 ELBOW	730722000000 UNITED STATES	30.00 EA	11.000	330.00	0.019	0.56 kg
--	-------------------------------	-------------------------------	-------------	--------	--------	-------	---------



*Pauli Meilum*



Stolle Machinery UK Ltd  
 Unit 2, Frontier Way  
 Frontier Park  
 Burnley, BB11 5FE  
 Tel: +44 (0) 1282 858930

Commercial Invoice  
 For Customs Clearance

Invoice Number: 495255  
 Date: 24/09/2025



<b>Total HS Code - DOMESTIC</b>							
<b>Total HS Code - FOREIGN</b>		<b>102.00</b>		<b>1,061.50</b>		<b>2.74 kg</b>	
<b>Total HS Code - TOTAL</b>		<b>102.00</b>		<b>1,061.50</b>		<b>2.74 kg</b>	

T15659	2025/20371	730711009999	2.00	9.080	18.16	0.011	0.02 kg
14	730472	MEXICO	EA				
2	FITTING						
T15659	2025/20371	730711009999	8.00	9.080	72.64	0.011	0.09 kg
14	730472	MEXICO	EA				
1	FITTING						

<b>Total HS Code - DOMESTIC</b>		<b>730711009999</b>					
<b>Total HS Code - FOREIGN</b>		<b>730711009999</b>	<b>10.00</b>		<b>90.80</b>		<b>0.11 kg</b>
<b>Total HS Code - TOTAL</b>		<b>730711009999</b>	<b>10.00</b>		<b>90.80</b>		<b>0.11 kg</b>

T15659	2025/20371	841239000000	4.00	171.270	685.08	0.544	2.18 kg
5	305355	UNITED STATES	EA				
1	PNEUMATIC CYLINDER						
T15659	2025/20371	841239000000	12.00	124.910	1,498.92	0.454	5.44 kg
4	720118	UNITED STATES	EA				
1	PNEUMATIC CYLINDER						

<b>Total HS Code - DOMESTIC</b>		<b>841239000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>841239000000</b>	<b>16.00</b>		<b>2,184.00</b>		<b>7.62 kg</b>
<b>Total HS Code - TOTAL</b>		<b>841239000000</b>	<b>16.00</b>		<b>2,184.00</b>		<b>7.62 kg</b>

T15659	2025/20371	844391009999	4.00	983.410	3,933.64	0.499	2.00 kg
9	217073	UNITED STATES	EA				
1	BLADE						
T15659	2025/20371	848310000001	1.00	1,292.280	1,292.28	22.362	22.36 kg
7	309731	UNITED STATES	EA				
1	SHAFT						

T15659	2025/20371 300660	844391009999	2.00	256.640	513.28	0.116	0.23 kg
3	PRINTING BLATE	UNITED STATES	EA				
	2025/20371						
	222152690	844391000999	2.00	1,029.000	2,058.00	10.433	20.87 kg
	SPACER PLATE	UNITED STATES	EA				
1	CYLINDER						



*Stolle Machinery*

- DOMESTIC

DWTC-C00-71448-699715c4ae91f/February 19, 2026



Stolle Machinery UK Ltd  
 Unit 2, Frontier Way  
 Frontier Park  
 Burnley, BB11 5FE  
 Tel: +44 (0) 1282 858930

**Commercial Invoice**  
**For Customs Clearance**

Invoice Number: 495255  
 Date: 24/09/2025



<b>Total HS Code - FOREIGN</b>			<b>9.00</b>		<b>7,797.20</b>		<b>45.45 kg</b>
<b>Total HS Code - TOTAL</b>			<b>9.00</b>		<b>7,797.20</b>		<b>45.45 kg</b>
T17493	2025/20681	730711009999	50.00	4.540	227.00	0.023	1.13 kg
2	700936	ITALY	EA				
1	FITTING						
T15659	2025/20371	730711009999	50.00	7.250	362.50	0.005	0.23 kg
15	765450	UNITED STATES	EA				
1	FITTING						
<b>Total HS Code - DOMESTIC</b>		<b>730711009999</b>					
<b>Total HS Code - FOREIGN</b>		<b>730711009999</b>	<b>100.00</b>		<b>589.50</b>		<b>1.36 kg</b>
<b>Total HS Code - TOTAL</b>		<b>730711009999</b>	<b>100.00</b>		<b>589.50</b>		<b>1.36 kg</b>
T17488	2025/20680	848210000000	12.00	9.080	108.96	0.091	1.09 kg
5	700170	UNITED STATES	EA				
1	BALL BEARING						
<b>Total HS Code - DOMESTIC</b>		<b>848210000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>848210000000</b>	<b>12.00</b>		<b>108.96</b>		<b>1.09 kg</b>
<b>Total HS Code - TOTAL</b>		<b>848210000000</b>	<b>12.00</b>		<b>108.96</b>		<b>1.09 kg</b>
T18192	2025/20847	848291000000	2.00	34.440	68.88	0.181	0.36 kg
4	700006632	JAPAN	EA				
1	BALL						
<b>Total HS Code - DOMESTIC</b>		<b>848291000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>848291000000</b>	<b>2.00</b>		<b>68.88</b>		<b>0.36 kg</b>
<b>Total HS Code - TOTAL</b>		<b>848291000000</b>	<b>2.00</b>		<b>68.88</b>		<b>0.36 kg</b>
T18192	2025/20847	848291000000	2.00	41.080	82.16	0.159	0.32 kg
3	700006634	ARGENTINA	EA				
1	BALL						
<b>Total HS Code - DOMESTIC</b>		<b>848291000000</b>					
<b>Total HS Code - FOREIGN</b>		<b>848291000000</b>	<b>2.00</b>		<b>82.16</b>		<b>0.32 kg</b>
<b>Total HS Code - TOTAL</b>		<b>848291000000</b>	<b>2.00</b>		<b>82.16</b>		<b>0.32 kg</b>
T17485	2025/20700	700690200800	5.00	974.320	4,871.60	7.711	38.56 kg
	700565	UNITED STATES	EA				



*Sally Milson*  
 2025/20700  
 700565

DWT-C00-71448-699715c4ae91f/February 19, 2026



Stolle Machinery UK Ltd  
 Unit 2, Frontier Way  
 Frontier Park  
 Burnley, BB11 5FE  
 Tel: +44 (0) 1282 858930

**Commercial Invoice  
 For Customs Clearance**

Invoice Number: 495255  
 Date: 24/09/2025



1 COUPLING

Total HS Code - DOMESTIC	400690200000			
Total HS Code - FOREIGN	400690200000	5.00	4,871.60	38.56 kg
Total HS Code - TOTAL	400690200000	5.00	4,871.60	38.56 kg
Grand Total:			18,191.94	100.49 kg

Package Type	Length	Width	Height	Dims UoM	Net Weight	Gross Weight	Weight UoM
CRATEUK	83.00	83.00	68.00	cm	100.49	143.00	kg
Total					100.49	143.00	kg

VAT Reg No: GB 942 4909 08

UK EORI Number: GB 942 4909 08000

The exporter of the products covered by this document (Exporter Reference No GB 942 4909 08 000) declares that, except where otherwise clearly indicated, these products are of UK preferential origin.

Place and Date: Burnley, UK. 21/10/2025

Name of Exporter: Stolle Machinery UK Ltd.

The exporter of the products covered by this document declares that there are no products within this consignment that contain Russia-originating sanctioned iron or steel material, and evidence can be produced upon request.

Signed: *Alex*  
 Name: Alex Edmondson  
 Date: 21/10/25

Przemyslaw Olszewski  
 Phone: +44 (0) 1282 858930  
 Email: przemyslaw.olszewski@stollemachinery.com  
 www.stollemachinery.com

I declare that all the information to be true to the best of my knowledge.



*Jan Li Milon*